Codage UTF-8

1 Octet
|0 X X X|X X X x|
| | | | | |
B >
----------------------- » U+
Point de code : |O|O 00 O|0 0,00(000 0|0 x X X|X X X X 8+882ga
2 Octets . , :
(en-téte) (complémentaire)
|1|1|0|X|X|X|X|X| |1|0|y|y|y|y|y|y|
P I— l -------- >
PSSR SS— ;
Point de code : [0[0 0 O 0|0 0000 X X X|X XY Y|y, VY Y| 8:8(;'8:%6
3 Octets (en-téte) (complémentaire 1) (complémentaire 2)
|1|1|1|0|X|X|X|X| |1I0Iy|y|y|ylyly| |1|0|Z|Z|Z|Z|ZIZ|
< > < W --------- > B >
4‘»44 --------- SR, SS—— 5
U+0800 a
Point de code : |0|0 O 0 0|x X X X[y VY y|y y z2|z 272 z| U+FFEF
4 Octets

(en-téte) (complémentaire 1) (complémentaire 2) (complémentaire 3)
|1I1I1I1|0IWIWIW| |1I0IXIX|XIXIXIX| |1I0Iyly|ylylyly| |1I0IZIZ|Z lelzl

Point de code : [W[w W x x|x x x x|y vy y|y, y z2|2 2 zlz 8:%2?:?:?:3
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